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Part A

For each of the following 30 questions, enter the correct value of z into the corresponding box.

} There is no need to show any working. Each correct answer is worth 1 mark; each incorrect

1.

10.
11,
12.

13.

14,

T=2+3x-1 '
: :zc.z(—l—l)2
g S X4F0
—3+2x3
z = 253
Lr=—|—2-3]|-|2-3|
r=1]-2°]
The point (2,z) lies o¥1 the line?=6.

.
. x is the gradient of a line perpendicular to y = Zm + 2.

.z is the y—intercept on the graph y = 3t.

1

2
z+2 6

4 tr=3z
2z +4) = 14

6z —1)=5(1~=x)-

answer is worth 0 marks. (Hint: in each case, z is an integer between —6 and 6 inclusive.)
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15
16.
17.

18,

19.-

20.

21.

22.
23.
24.

25.

26.

97.
28.
29.

30.

T = ><2\/§
6

/2 = /8

TXT+2=2

3

Zizm

i=—1

The gradient of a horizontal line is z.

The highest power of any variable in a linear equation is z.

72 =124z
2%:\%§
i
.
Bp=34d
V=i
4 =144z
40%=w\/10

:
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For each of the following nine multiple-choice questions, enter the letter corresponding to the
correct answer in the corresponding box. There is no need to show any Workmg Each correct
answer is worth 1 mark; each incorrect answer is worth 0 marks.

1. Two numbers that lie in the interval (—3,2] are:
()
(B

) —3 and 2

) Oand 2.1
(C) —2.6 and 3
(D) —2 and 2
(E) 0.5 and 10
(F) 0.9 and 3.1

Answer to Queétion 1 I

Answer to Question 2: ‘:E

3. (a — b)? expands and simplifies to:

Answer to Question 3: ‘:E

continued...




4. The line y = 6z — 5 will cut the y-axis at the same point as the line

(A) y=6z+5
(B) y=5z-6
(C)y=3z-5
(D) y=%m+5
(E) y=5

(F) x=-5

5. 3a®b’c x 3a’b simplifies to:
(A) 9a%%c
(B) 9ad?
(C). Ba’b’c
(D) 6a®b3c
(E) 9a%b3c
(F) 6abb3c?

6. 2e*f + 2e*f simplifies to:

Answer to Question 4: z:

Answer to Question 6:‘@

Answer to Ques‘bion 5: EE

continued...



7. What is the value of the gradient of a vertical line?

(A) O

(B) 1

(C) -
(D)1 depends
(E) Not defined.
(F) 100

8. For all a,b>0,a—vb=
(A
(B
(C
(

~—
ﬁ
<

57 8%
P+
S

g
N N~ N

(E

§

(Sl s

9. For all a,m,n, (a™)" =

Answer to Question 7: Il

Answer to Question 8: [Q

Answer to Question 9: A

continued...



Part B

Each of the following questions carries the stated number of marks. Write yéur answers in the
space provided. Part marks will be awarded for correct working.

3
1. (a) Simplify ; L (—‘?) + 3% Show all working.

‘ : ’Z—) | | (3 marks)
T 7 ‘T |

&

_
Ze

m—

1

i
-

yu

&

\

\

(b) Simplify \/_ 24 + 3+/54 — 2\/— 96. Leave your answer as a simplified surd. Show
all working.

,\["((H 35—\@«2\5—\[’

(3 marks)

A\

continued. ..




2. Solve for z: 2 + S~ 0" (3 marks)

2—h3x 5z + 1 | @
Q(gl*h)‘f3(2v31> < O

G”:‘\L?xﬂ

@2 g 0D

NG v@’ N
L =4 &

3. Solve  |-Bzx+2|+3=5 = . ' (2 marks)

’“ N "f?./ z )/ i

..val »L@@F | '—ﬁ~(2 “'L@

”Yi 0 RY\L"’%

e ) 4 oo T o o T ) ) / -




4. (a) Find all z for which =5z + 2 > —(—z + 4), writing your answer in inequality
form. (An example of inequality form isz > ...). . (8 marks)

- S'”L“PL 7 ‘)(/@LF

b 7, 4 &
D G S @

(b) Write your answer to part (a) in interval format. - (1 mark)

| | L
WWJ?/Z C O "i 'F?‘FM(

., noul 4 watals

/V]/Lﬂ((,l (/20) Mark your answer to part (a) on the real line. (1 mark)

o PRYTAN
— v
c/; | v iz
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5. (a) Write in summation (sigma) notation:

(2 marks)
o0
r o
g Qﬂ ) v
(7
(b) Write in summation (sigma) notation:
3+3+3+3 : (2 marks)

S e En ey o
T ‘ .
N : ~ ) fJ\ ‘74)/‘/’ ﬁ/
v i T
“
6. Slmphfy k? k3 + k2 A (4 marks).

© 0
RT k- b

continued. ..
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7. Let A be the point (0,3) and B be the point (%, 5).

(a) What is the equation of the line between A and B? (3 marks)

m= 5-3

"":ax ¢ D

\1 (ODC*C' | o |
3 7 et S \/""(ﬂ)k*j @

c=g &)

(b) What is the distance between A and B? Write your answer as a simplified surd.

J@»&)Qf (5-3)* 4.
{45 &)
// ®©

V’ @)

continued...
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8. (a) Sketch the graph of y = 2z + 1. Make sure you include the z— and y— intercepts

(2 marks)

(where they exist).

—3z — 2. Make sure you include the z— and y— intercepts

(b) Sketch the graph of y

(2 marks)

(where they exist).

(c) Sketch the graph of z = —3. Make sure you include the z— and y— intercepts (where
they exist).

(2 marks)
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9. (a) What is the equation of the line parallel toy=4x—3 and passing through the point

(-2,-7)7 (3 marks)

\

Porally] (M\l 7 7 L1¢C =
.,7 Fx-21C

c = >
17 401 =2

- (b) What is the equation of the line perpendlcular to z = 16 and passing through the
point (-2, —7)7 :
(2 marks)

B&/TWOW o~ CM\I

L ffyvin

oL ey e

T 9
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10. (a) Solve the following system of two simultaneous equations.

| ,@xi S y=-l2 — @
| %’K'L-F)g’ 4 G

O «/o‘l & &
| /VH Hrue | o wvolution 2

e &/nm ont /M/m(////@

(b) Determine the solution to the pair of equatlons 0O=5z—y—4andz+ 2y = 14.
(3 marks)

’s’«pfj 4 ——-‘——-O

S O D e €
@ 10x = —C)
‘ ~€ %_{2\(1:’/1

Nvt ‘QQ |

o P @ Q+ = /Y >QC7




